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(2) HEORI

(CHAAT: i)

X 4y *H 17 18 19 20 21
S e 269,012 | 272,483 | 277,906 | 285,820 | 291,211
Bk £ 153,852 157,144 161,214 166,860 170,320

| B R — [ R 17,347 18,197 19,322 20,663 21,321
AR 2 — M B 23,287 22,883 22,694 22,205 23,028

s | B — X EE 20,438 20,495 20,235 20,356 20,645
R H— X R 20,695 19,907 20,017 20,854 20,289
(RGN = R R 33,393 33,857 34,424 34,882 35,608

o % 185,129 187,422 190,295 195,501 199,239
R & 119,582 121,426 123,791 127,430 129,242

| e s — 9,459 9,915 10,690 11,455 11,830
fix | EFSR MR A — M EE 14,250 14,102 14,013 13,912 14,441
L | AP e —KEE 11,742 11,708 11,392 11,542 11,760
M R e — R =R 9,675 9,583 9,356 9,736 10,040

PE ] JE 2 B 77 1 = 20,421 20,688 21,053 21,426 21,926

i % 83,883 85,061 87,611 90,319 91,972
R £ & 34,270 35,718 37,423 39,430 41,078

s Bl ke — X E=E 7,888 8,282 8,632 9,208 9,491
B | EfRiiEes 2 —XEE 9,037 8,781 8,681 8,293 8,587
L | AP HUR S — 8,696 8,787 8,843 8,814 8,885
B o — I E =R 11,020 10,324 10,661 11,118 10,249
VO] J 2N BB o R 12,972 13,169 13,371 13,456 13,682
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(3) BdkA DI

CGEAZ: A
X 4y *H 17 18 19 20 21
i % 32,045 31,790 31,406 31,205 31,353
R & 23,081 22,873 22,511 22,330 22,331
A B I B 2 — 1,612 1,647 1,651 1,688 1,738
ERRE 2 — K ER 1,410 1,382 1,377 1,360 1,400
" HE M 2 — X E 1,533 1,512 1,507 1,515 1,552
R s — B =R 1,926 1,874 1,822 1,765 1,758
(RGN S R R - 2,483 2,502 2,538 2,547 2,574
W P 28,426 28,054 27,574 27,242 27,116
Bk £ ff 21,082 20,809 20,396 20,128 19,975
— | Bt 2 — X E=E 1,350 1,342 1,329 1,349 1,371
R R s — R 1,096 1,073 1,065 1,050 1,069
| s A e xR 1,330 1,300 1,283 1,273 1,297
R s — M 1,612 1,589 1,539 1,482 1,466
PET RN BAR 7 T = 1,956 1,941 1,962 1,960 1,938
i % 3,619 3,736 3,832 3,963 4,237
R & 1,999 2,064 2,115 2,202 2,356
i\ BRI e — X = 262 305 322 339 367
ERR 2 — K ER 314 309 312 310 331
B | LEg s — B 203 212 224 242 255
e — R =R 314 285 283 283 292
VAT A 2 R = 527 561 576 587 636
(&R BEEXEL
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(4) BIERH MR
o i ¥ T
B st | —m | wmE | s st | —m | wmE | s
RIS == 452,470 270,008 154,436 28,026 288,920 179,515 90,490 18,915
18 469,012 273,360 167,297 28,355 292,267 178,643 94,691 18,933
19 479,405 275,706 174,743 28,956 296,605 179,268 97,756 19,581
20 518,468 299,098 188,343 31,027 318,722 192,260 105,893 20,569
21 522,821 309,083 184,050 29,688 317,602 196,929 101,367 19,306
S 214F 4H 43,365 25,686 15,184 2,495 26,882 16,512 8,785 1,585
5 48,770 29,798 16,224 2,748 31,098 20,027 9,185 1,886
6 33,150 19,610 11,678 1,862 18,031 11,263 5,655 1,113
7 48,701 27,661 18,411 2,629 29,770 17,974 10,063 1,733
8 52,035 28,439 20,966 2,630 31,616 18,383 11,467 1,766
9 44,349 26,258 15,511 2,580 26,616 16,398 8,497 1,721
10 45,344 26,365 16,145 2,834 26,828 16,361 8,606 1,861
11 42,093 24,684 14,804 2,605 25,168 15,368 8,021 1,779
12 36,435 22,099 12,442 1,894 21,983 14,105 6,692 1,186
224 1H 42,191 25,436 14,347 2,408 26,590 16,596 8,482 1,512
2 42,483 25,642 14,315 2,526 26,475 16,512 8,396 1,567
3 43,905 27,405 14,023 2,477 26,545 17,430 7,518 1,597
= <5y e A — X E s o — [
EOA K s | o | owm | s s | o | owm | s
N VA S 33,878 21,084 10,603 2,191 31,638 17,781 12,221 1,636
18 35,160 21,330 11,913 1,917 32,511 17,603 13,124 1,784
19 39,566 23,147 14,361 2,058 31,555 16,502 13,281 1,772
20 43,350 24,920 16,150 2,280 32,696 18,298 12,897 1,501
21 42,914 25,420 15,296 2,198 34,011 19,806 13,030 1,175
- 214F 4H 3,479 2,074 1,201 204 2,586 1,526 965 95
5 3,847 2,230 1,421 196 2,811 1,633 1,092 86
6 3,652 2,101 1,384 167 2,602 1,497 1,027 78
7 3,939 2,159 1,574 206 3,328 1,786 1,427 115
8 3,933 2,087 1,667 179 3,439 1,904 1,422 113
9 3,630 2,151 1,297 182 3,108 1,871 1,124 113
10 3,695 2,079 1,415 201 2,985 1,782 1,095 108
11 3,547 2,147 1,235 165 2,803 1,608 1,114 81
12 3,119 1,854 1,127 138 2,111 1,274 760 77
W 224F 1H 3,129 2,021 934 174 2,639 1,526 1,014 99
2 3,344 2,223 924 197 2,627 1,547 970 110
3 3,600 2,294 1,117 189 2,972 1,852 1,020 100
(R HE R
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(B - fifH)

B )11 sl 2 — =

AR —

| [ owm | ok | [ wm Mzt
25,379 12,442 11,476 1,461 34,902 17,469 15,922 1,611
34,079 15,577 16,641 1,861 35,145 17,921 15,900 1,324
38,014 18,009 18,035 1,970 34,863 17,556 15,938 1,369
44,818 22,022 20,257 2,539 35,866 17,870 16,283 1,713
46,693 24,056 20,279 2,358 36,276 17,831 16,522 1,923
3,661 1,928 1,510 223 3,052 1,549 1,351 152
3,989 2,057 1,741 191 3,118 1,559 1,428 131
3,290 1,782 1,331 177 2,830 1,453 1,235 142
4,446 1,964 2,270 212 3,063 1,408 1,505 150
5,054 2,251 2,597 206 3,651 1,549 1,957 145
4,089 2,144 1,747 198 3,221 1,649 1,427 145
3,962 2,177 1,546 239 3,236 1,714 1,342 180
3,844 2,037 1,614 193 2,730 1,282 1,262 186
3,221 1,746 1,301 174 2,668 1,256 1,277 135
3,437 1,831 1,391 215 2,756 1,439 1,147 170
3,743 1,994 1,584 165 2,805 1,382 1,207 216
3,957 2,145 1,647 165 3,146 1,591 1,384 171
AR5 AR B
ik | oome | mw | s
37,753 21,717 13,724 2,312
39,850 22,286 15,028 2,536
38,802 21,224 15,372 2,206
43,016 23,728 16,863 2,425
45,325 25,041 17,556 2,728
3,705 2,097 1,372 236
3,907 2,292 1,357 258
2,745 1,514 1,046 185
4,155 2,370 1,572 213
4,342 2,265 1,856 221
3,685 2,045 1,419 221
4,638 2,252 2,141 245
4,001 2,242 1,558 201
3,333 1,864 1,285 184
3,640 2,023 1,379 238
3,489 1,984 1,234 271
3,685 2,093 1,337 255
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